
 

 
 

Determinants 

Class 12th 
Short Questions 

Q.1) Order  3 × 3 find |A−1| =? 
Sol.1) We have     |A−1| = |

1

|A|
 . Adj A| 

                              = 
1

|A|3  |Adj A| 

                              = 
1

|A|3  . |A|3−1 =
1

|A|3  . |A|2 

          ∴   |A−1| =
1

|A|
        Ans. 

Q.2) Order 3 × 3  ;   |A| = 3and |2 AB| = 120 find |B'| =? 
Sol.2) We have   |2AB| = 23 |AB|  

                     120 = 23 |A| |B| 
                     120 = 8 × 3 × |B| 
                         5 = |B| 
           Since |B'| = |B| 
      ⇒            |B'| = 5        Ans..... 

Q.3) Order  2 × 2   ;    𝐴𝑑𝑗 𝐴 = [
2 −1
3 4

] and Adj B = [
1 2
3 5

] find Adj(AB) =? 

Sol.3) We have   𝐴𝑑𝑗 (𝐴𝐵) = (𝐴𝑑𝑗 𝐵) (𝐴𝑑𝑗 𝐴) 

                                    = [
1 2
3 5

] [
2 −1
3 4

] = [
8 7

21 17
]            Ans…. 

Q.4). Order   2 × 2  ;    𝐴 = [
1 2
3 4

] find 𝐴(Adj A) without finding Adj A. 

Sol.4) We have,  𝐴|Adj A| = |A| I 

                                   = |
1 2
3 4

| [
1 0
0 1

] 

                                   = (−2) [
1 0
0 1

] 

                  𝐴(Adj A) = [
−2 0
0 −2

]           Ans…. 

Q.5). If n = 3 × 3    find |Adj(Adj A)|  and |A| = 5 
Sol.5) We have    |Adj(Adj A)| = |A|𝑛−1 

                                         = |Adj A|2 
                                         = (|A|3−1)2 = |A|4 
                                         = (5)4 = 625       Ans. 

Q.6) If A = [
1 2

−1 4
]   find (BA)−1 and B−1 [

2 4
3 6

] 

Sol.6) We know    (BA)−1 = A−1 B−1 
                     |B| = 12 – 12 = 0               ⇒    B is non invertible 
                 ∴ (BA)–1  not possible 

Q7). If –1 ≤ x < 0   ;   0 ≤ y < 1  and  1 ≤ z < 2 

Find ∆ = |

[𝑥] + 1 [𝑦] [𝑧]

[𝑥] [𝑦] + 1 [𝑧]

[𝑥] [𝑦] [𝑧] + 1

| 

Sol.7) Since     – 1 ≤  𝑥 <  0   ∴   [𝑥]  = – 1 



 

 
 

                0 ≤  𝑦 <  1   ∴   [𝑦]  =  0  
                1 ≤  𝑧 <  2   ∴  [𝑧]  =  1  

∴   ∆  =  [
−1 + 1 0 1

−1 0 + 1 1
−1 0 1 + 1

] = [
0 0 1

−1 1 1
−1 0 2

] = 1    Ans….. 

Q.8). 
A = [

2 −1 3
4 5 5
3 −1 4

] find M32 and C23 

Sol.8) M32 = 10 -12 = –12 
C23 = 8 – 9 = (–1) = + 1          ans. 
                     (sign change) 

 




